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LIC ADO EXAM 2009 SOLVED PAPER

REASONING ABILITY

1. A man moves 100 m lowards east,
he turns to his dght and moves
100m. Then he moves 50m turn-
ing to his left and again turns to
his left and moves 50m. Finally
he turns o his left and moves
[50m. How far 1s he from the
starting polnt
(1} Om 2] 50 m
(3} 100 m (4] 150 m

. In a certain code language

TEACHER is written as VGCE-

JGT. How will CHILDREN be writ-

ten in that code language ?

(1) EJENFTGP

(2] EJKNFGTO

13 EJKNEGTP

4 None of these

In a certaln code language CA-

LANDER is written as CLANAEDR.

How will CIRCULAR be writien in

that code language 7

(1) CRIUCALR  {2) ICRCLUAR

(3 CRIUCLRA 4] ICCRLURA

. Which one set of letters when
placed sequentially at the gaps in
the given letter serles shall com-
plete it ?
ab c_a aa_ac_ac_

(1) abchca (2) acbcha
i3] abchba i4) beabab

. In the following question a group
of letters is given. Each letter
bears ¢ertain mark A, B, C, D
....]. Four combinations of marks
are then given. Select that combl-
nation which would form a mean-

ingful word.

A M B E
ich 1 D) N
(E] R A A
(Il BoE.FRAC. D
(2B E.DAF

(A FECDE
WEBAFCD
8.1 a certain code language the

aurber 13479 is wrlmll
AQFJIL and “2568" is writien as

"DMPN'. How will '396824' be writ-
ter In that code language ?

(1) QLPNDF (2] QLPNMLI
(3) QLPNMF 4) QLFMNF

7. Pointing towards a man Rohit said,
*His son i3 uncle of my son”, How
is that man related to Rohit ©
(1) Father {2 Grandfather
(3 Unele (4] Brother

B. Aand B are married couple. X and
Y are brothers to each other. X is
brother of A. How i3 Y related Lo
B?

(1) Brother

(2) Cousin

(3 Son-in-law

(4} Brother-in-law

v In this question, fiesi two words
have relationship between them.
The third word and the ward that
should come at the place of ques-
tion mark aleo have a stmilar re-
lationship. [dentily from among
the alternative words below which
should come al the place of ques-
tion-mark:

Country ; President : ; State - 7

(1) Member of Parliament

iZ} Member of Legislative Assem-

hily

i3] Minister

{4) Governor

|4 TRAVERSE

(B TREASURE

[C) TRAPEZE

(D} TREADLE

(E) TRAVAIL

The correct sequence of the words

is :

WE.ABCDRCEADB

MABEDCHWAEBDC

Directions {11 - 12) : In each of
the following guestions, four words
have-been ghven. Three of these are

mtﬂcﬁmne manner and one is dil-

ferent. Identify the odd one,

AfAQAY Feather (2 Hair

{3) Grass (4) Wool

10.

12. (1) Telescope
(2) Telephone
|3) Tape Recorder
(4] Transistor
13. Find ot the missing number

6, V325, 51, 1047
(11204 i2) 278
(3 203 (4) 254

DMeections (14 - 18) : [n each ol
the questions four figures A, B, C anc
D are given. Which among the figures
FQ. Rand 5 given below to them
can continue the series A B C. D7

A D0 AP T|T O #
s plp oo ala 1
Ay Bl j
C ala cla C|F
I LI A L
P [ i# 14
mp 21 Q
(3 R {4 5
16. [+ D ']
0 -~ O (= ‘
@ 5
4] R 1 i
o fta 4
E ICI % IG =
— |
E Py i} iRi LY
(1y P 12}
(3 R [4) 5

Directions (16 =17) : Inearh o
the following questions problem flgures
1,2 3, 4 and 5 constituting a contin
uous serles with a gap marked (7 are
given. Which among the figures given
below, marked (11, {2]. (3). and [4] can

| fill in.the gap ?

18, } Q{hn}‘q@f
| —

Vakd

VWV |V

4

— |
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= - 3 : i

BAEEE
AlET

17. I

@&l

Wy it )
Divections {18 - 19} : in these
‘juestiuns, an jncomplete figure s ghv-

vi. Which of the four small figures
inen below, marked (1), {2, (3 and
i-4) can complkele the gven incomplete
igare ®

13 {4

LE, V ‘?

I w mﬂ
ml \! 14{&\&

Directions (20 - 21) : In each of

Ve questions, figure drawn on1 8 trans-
sovent paper 8 @ven below, Which
sm ameng the four figurés marked
g2 43 and (4] el it Lake, Ui i
inliled along the datisd Hne .

20 {f"_l'.'"'t
|
' !
!_Q ol
Ui 2
@ ®

n

i\ ] @4
A @

o

(1 2
=]

e

3 4

= =

Directions (23-23) : In each of

the following questions. [tve flgures
marked 12, 3, 4 and 5 have bezn giv-
en. The positions of which of the two
of these ligures shouid be exchanged
Lo make the Migure sezfes a continu-
ous one ’

= 3

Hz0O||xa0 J1expa=(i=O XAt 08 X

i 17 ik T
(1) 12) and 130
{Zi- {2 and {4
L (1Y end (4
(4] (2} and (5

(WIS

il i i (4 ISJ__
1) {2} and (3]
12 {31 and 4
(Y (2) and 15)
{4} [3 and {5)

24. [dentify the wrong number which

does not il into the series :
4. 8, 27, 80, 244, 728
(s (2 27

(31 8O 4) 244

Find out (he misaing letters n the
following letter sertes © !

FEDABLKJGHRQ??
(1] MN 12) NP
g 4] MM

NUMERICAL ABILITY

5.

a1

The dencurtinators of two factlons

are respectively 5 and 7. The sum
41

of these two fraction is S Hihe

numerators of these fraction are
interchanged. then the swim be-

43
comes == . Firid the feactions :
7 4 L34
(] 57 {Z) 57
42 35
i3 57 (4] 57

. Three swumbers are in the ratlo

o2 3 respeclvely and their
HCFIs 12. Find the numbers.
1) 4, 18, 12

(2} 5 1213

(3) 12,.24, 30

(@) 12, 24, 36

Two {rains are aboul to collide.

They are 85 miles apart. The Lrain
coming from narth Is running at

35 miles per hour and the train

caming from south Is tunning Al
B0 miles per hour. How lar thes
would be two minuies before the
colilslon ?

{1} 4 miles

(2 4.5 miles

131 Smiles

(4] Cannot be determined

, What is the number, the two Uimes

of which Is 99 more Lhan the one-
half of that number ?

() 74 (2) 64
(3 66 (4) B4

I25% of a number is subtracted
from another number the secon:d

5
rarnber bacomea - th of Il Wha

is the ratls between the Arst num-
ber and the second number ?
i,1:3

212:3

3} 3:2

(4] Data inadequate

A man g&tln,s Lhe selling price of

13 dozen of mangoes ty selling
39 dozen of mangoes. Find the

" gain percent.
(1) 26% {2} 33%
3 40% {4) 50%
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33. The place value of 5 in 0079543
s

5 3
() Too 1000
s 5
3 t000 WO
(162 x (122
31. ———
Tog 1oequalto
{1) 384 2] 96
[3) 182 4 209

M, 08x08+08+8Isequalte

{1} 0.74 2 1.44
3 0.65 _ 4 0.62
o JS1JBL 9
" Tozs Jag 7 ocqualte
X 8
DT (2} 15
9 = —
@ 45 35
36. Find the HCF of 105, 70, 210
(1) 70 21 5
3 10 4} 35
3 9 27
a7. Hndth&m“n“-ﬁlﬁtﬁ
]
5 & =
27 27
@ 5 4 35

38, Find the amallest number which
is completely divisible by 8, 9, 12,

15and 18 and {8 a perfert asquare.
(1) 900 (2) 14400
(3) 6400 (4} 3800

39. If 120 is added to 80% of a nur-
ber, then the number fself 1s ok
tained. Find the number,

(1} 380 (2) 300
(3} 320 131 240

40. A contractor envisages (o con-
struct a bridge in- 40 daya. He
employed 100 men on work ind-
tially and 100 more men were
engaged after 35 days and the
work was cowpleted on time, If
he had not engaged more men
than inhow many days the work
waa 1o be completed 7
i3 2.5
e 49

41. A moneylender lends Ra. 4000 -
for 3 years to a rural man. The
rale of simple Interest on some

part of money is 10% and on the
rematning amount It is 12%. He
gets Rs, 5350 after three years.
Find the amount lent on 12%.
(1) Rs. 2000 (2 Rs. 2250
(3) Re. 2500 (4) Rs. 2750
42. A 2 metre path surrounds a
square fleld. If the area of path
is 72 sq.m, then find the area of
the feld. '
(1) 70mq.m (2} 68sq.m -
(% 498sqm (4 80 sq.m
43. A right angled trianghe s inacribed
in a clrele of radius 10cm and
the side of triangle is dlameter of
the circle. If the perimeter of the
triangle is 48cm, find the other
two sidés of the triangle.
() 13cmand 15 cm
(2} 14 cmand 14 cm
(3) 12 cmand 16 cm

M) 10cmand 18 om
44 mand n are two Integers. If m" =

25 then what is the valus'of n=?
1 4 @ 16
@ 25 l4) 32

38
48, The decimal equivalent 10000
in:
{11 0.033 - ) 0.0038
{3 000038 @) 0.3800
#8. 0.008 x 0.0008 = 7
111 G.0000084
2 0.000G54
[3) 0054000
{4) 0.0005400
47 Santewin Invested a sum of Ra.
10.000 at 10% compound inter-
¢at for 3 years. How much
amount will he get after 3 years?
{1) Rs. 12,310 () Ra. 13,310
(3) Ra. 13,210 (4) Ra. 13,320
48. I a man sells an article for Ra.
1600 he incures a loss equal to
the profit if he sells that article
rm-mamu.mdmcpnmm
article,
(1) Rs. 1800 (2) Rs. 1700
(3) Rs. 1900 4} Re. 1550

48. What is the value of P In equa-

ton P x 13 = 525720 7
(1) 44040  (2) 40404
(3) 40044  (4) 40440

BO. Aboat covers 40 km dovnatream
in 4 hours and returns in 5 hours
upstream. Find the speed of boat
in still water. '
(1) Tkmph  (2) 4 kmph
(3 9kmph (4} 6 kmph

GENERAL KNOWLEDGE &

CURRENT AFFAIRS

' BL Which of the faﬂowing js referred

to an ‘Information Highway"
(1) Radar
(3 Internet

[2) Sonar
{4} None of these

'B&. Which of the foliowing devices

connects computer with tele
phone ?
(1] Internet (2] Modem
% Intranet
{#) Allof the above
B3. The planets revolve round the sun
due to
(1} Frictional Force
{2} Centrifugal Force
(3) Inertial Force
(4] Centripetal Farce
£4. Who among the following s con
sidered as ‘Father of Indian Bal

listic Miasile Programme ¥
I} ARJ Abdul Kalam
(2} Dr. HJ Bhabha
(3 Vikram Sarabhal
{4) Dr. Kasturirangan
B8, What s the source of electrical
energy in artificial satellites ?
(1) Solar heat
{2} Solar radiation
3] Solar cell
{4} None of these
88. The Life Insurance Corporation of
India (LIC) has its offices in which
of the following couniries ?
1) mj
2] Mauritius
{3 United Kingdom
(4] Al of the above
7. Who among the following has writ
ten the book titled “Dreams From
My Father" ?
{1) Steve Harvey
{2) YV Reddy
(3 Barack Obama
{4) None of these
88. Which of the following is not a
plan of the LIC 7
{1) Jeevan Shrec
(2) Jesvan Bodh
(3 Jeevan Saral
{4) Jeevan Anurag
88, Which of the following is an ideal
LIC Policy for the persons having
irregular bul good periadical in
come 7
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{11 Bima Nivesh 2005

{2l Wealth Plus

4 Jeevan Tarang

14] Jeevan Surabhi

Whe among the lollowing was the

[lrst Prestdent of the Council of

sSeientiflc and Industrial Re-

sk ?

i1 Lal Bahadur Shastr

i) Maulana Azad

M Dr. Radhakrshnan

111 Jawahar Lal Nehru

Gyatrl mandra is dedicaied to

{1 Indra [#) Miira

[ Savitn [4) Varun

The capital of Mallrak rulers was

1] Wallabhl (21 Besnagar

LA Ulain (4] Gandhar

What i3 the [ul] [rom of MICR the

wehnique used for clearance of

vhegues by banks ™

111 Magnetic Intelligence Charac-
ter Reeognition

121 Magneule Information Cable

Recognition

LY Magnetlc Insurance Cases
Recognition

i4, Magnetic Ink Character Rec-

opnition
if the Panchayal s dissolved, the
rleetion muost be held within
11} onementh (2] 4 months
Y Gmonths (4 one year
Who among the followlng (s the
fnunder member of World Ecp-
nomic Forum ?
(11 Klass Shwaty
12 Robert Joelick
' Paul Krugman
14} Kenneth Galhraith

The ChiefJustice of the Supreme.
Conrt whe gave the coneept of

Publle Trterst Litigation'

i1 PN Bhagwatl

¥ K5 Hegde

4 Prasud Hajendran

P11 AN Hay

The President of India who was

wsmociated with the Trade Unbgn”

Soneerment

N Sanjecva Reddy

v Fakie Huagain

1A KR Narayanan

HEWY Gl

[Tie-Central Governmenl recehved

wtedmun revenue during 2008-
2% from which of the Enlluwlng

Taxes ?

{1} Intcome Tax
(Z) Corporation tax

3 Cusiom Duty
(4] Excise Tax

89. Who among the following won the
men's aingles title at the French
Open lennis 2009 ?
(1) Robin Soderling .
{2 Andy Murray
{3} Roger Federer
{4) Andy Roddick

70. The concept of ‘carbon credit’ was
evalyed from
{1} Earth Summit, Rip de Jansiro
{21 Montreal Protoool
{3) Kyoto Protocal
(4) Shanghai Protocol

71. Who among the following won the
Fantaloon's Femina Miss Indin
World 2009 title 7

{1} Pooja Chopra
{2 EktaChoudhary
{3} Shriya Kishore
{4) Nupur Sinha
7T3. Which of the following has maxi-
murm energy ¥
{1) Bluclight {2) Yellow light
(3 Redlight {4) Gresnlight
73. In which al the follcwing Vedic
hymns (here is reference of the
orlgin of four Varnas ?
i1] Nasadiya (2} Parush
13 Azrmyani > (4} Ushash
74. Shahjshan annexed __ to the
Mughal Empire,
{1 ﬁ.\‘ﬂ'ﬁ'ﬂ!ﬂ&ﬂﬂl‘

(&) Goleunda .
{3) Byapur  {4) Khandesh
78. Who among Lhe following first
deciphersd the Brahml seript 7

(1) willtam Jones
(2) James Princep
13) John Marshal

4] Macaulay
ENGLISH

Directions (76-80) : In each of
the following questions, And out which
part of Lhe sentence has an error. I
there ta no mistake the answer 15 'No
&rror:

T8. My [ather la 11]/ in bad mood 2]/
today. (3)/ No error (4).

77. The accelerating pace of life In
our metropolitan city {1)/ has had
Lhe tremendous effect {:
culture and Iife style
ple. (31f No error {4).

4

T8, The achool Is (1) with in hundeed
" yards (2)/ lrom my house. |3)/

No error (4).

TH. Both the civillans (1)/ and arm
men (2)/ Joined the firal world war
{317 No error {4).

80. The famous D, Chandra {11/
only dentist (2] / in/our viliags. [/
N error {4).

Directions (81-84] : in each cach
of the [ollowing questions, ouwt of the
given alternatives chouse the one
which besl expresses (he meaning of
the glven word.

81. GAUESOME
{1} Hateful {2 Painful
i3 Trage (4] Frightiul

&}, BECUNE

iU Secret (2} Comfortatle
13} Safe
(4] Independent
83, TIRANNY
(1) Misrule [2) Power
13 Madness (4 Cruelly
M. OBLIGATORY
(1} Useful {2) Required
{3 Stubbom i4) Agrecahl:
B8. CONNOISBEUR

{1) 1gnorant 12) Interpreter

{3) Delinquent (4] Lover of art

Directions (88-90]) : In cuch
the folowing questions. choose thr
word opposite in mmnlng to the given
word.

B84 STARY
(1) Close [2) Shut
- [ End (4) Flidsh
B7. UNIVERBAL

(1} Narrow {2l Regonal
(3 Mirdature 4 Subeidiare
53 ALIVE
{1} Passive (2) Dead
(3) Asleep 4] Drowsay
ANCESTORS

| 08,
{1) Supporters {2} Disciples
[3) Followers
(4] Deacendanta
90, SYNTHETIC
1) Cosmetic (2} Plastic
13) Affable [4) Naturad

Directicos [(#1-90) : In each ol
the following questions, B sentence
given with a blank to be filled 1n with
an appropriate word. Four alternatives
are suggested for ench questlon.
Choose the correct alternative.

91. If a universal language really ex
isted, people like tourists and busi-

'*"'*ﬂumm weuld find it eagler to

o o with foreigners.
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(1] transact
(2] communicate
(3} deal (4) exchange
82. On account of his humiliating de-
feat in the recent electlons, he
appeared anusually ___ when |
called on him the other day.
{1) oppressed
2] repressed
{3} depreased
{4) suppressed.
83. You need ____shoes for walking
in the hills,
(1) good (2} comfortable
[3) satlsfactory (4] sturdy
94. Amongst the two brothers, Sameer
being worthier often ___._ the
younger Deepak.
(1] dominates (2] eclipses
13 subxdues (4) overshadows
96. It was difficult to see through the
. 0f the head lights of the cars.
{1) shine (2) glare
() dazzle (4} briliance
Directions [88-100) ; In each of
the following questions, out of the four
alternatives, choose the one which can
Le substituted for the given words/
senlence,

98. To cause troops etc, to spread out
in readiness for battle

(1) Align (2) Collocate
(3] Deploy {4} Disperse

97, One who forcibly selzes control of

a biss or an alrcrafl
{1} Pirate 12) Swindler
{3 Hijacker (4 Pilferer
98, The act of killing one’s wife
(1) Genocide {2} Uxoricide
(3) Canicide [4) Avicide
9. Music sung or played at night be-
low a person’s window
{1) Serenade 2} Sonnet
{3 Lyric {4) Primo
100. A government by the nobles
(1) Democracy
(2) Burcaucracy
{3) Autocracy

4} Artstocracy
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= EXPLANATIONS ==
148
M
Y LG o H
[‘—' we—l—-ﬂ
1HIm
% s +—- 5
1 50
.rmm‘l‘f"“'“
L L I
[
- Required distance [AF]
= {00 -50=50m
2. 1)
v i HER—Jv G0 EIOT
| o TT . A
+1 I '
w1 f
+1
+1 1
2
‘2
Simnilarhy
iv | TR —®E | E¥ETOF
| P A
13
+2
+i
1}
+l
+1
«1
3
T ALANDERSCLANAEDR
Y A4 B ETR 13264786
Sirmitarly,
ClRLUULARCHI DALY
I 2345878 [ 3254784
4.8
ab [a]c/{b]ali]asa [h] ac/
B

3. 14] Megninghal word ==
R E M A | N
Ey B @ i) (D)
&1L R Ta 25(“*..3
N ’
AWFJL
Yherefore,
3 564824
U A A
QLPNDF

- = g

DMFN

Tl

- Fath
oy Rohit

e

S0 —r—y &
Uncle Son

», The man Is father of Rohi,
8 4

A "B
Marvled g ple
—

umu:erl

; #— Brother —» v Brother-in-law

9. (4} The head of the country ls
President. Similarly, the head of
a stale {8 Governor.
10. {2] Correct order of words
(C} TRAPEZE — (E} TRAVAIL ~»
{A) TRAVERSE — {D) TREADLE,
—+ (B) TREASURE
11. 13} Except grasa; all others Tan
ke oblatned o animais, .
12. (1) Except Telescops, ail ofhiera
are audic devices. Telescope is
used o see distant phjerta,
I G6x2+1a13
13 k251225
2525 1'e 51
Blx2-1=]01

K022+ = [203]

14. (3 Prom Problem Figure [A to (B}
the pairs of designa of the upper
and lower mows interchange po-
sitiona and the design at lower
right comner je replaced with
new clesign. From Problem Fig-
ure {B) 1o [C) the pairs of designe
at the left and right sldes inter-

change poaitions ard the design

at upper right comer ia replaced
with a new design, These twao
8l¢ps are continued alternately in
the sithsequent fgures.

1B. (1} In each subseguent igure the
Arrow mevee atepwise diagonally
und rotates 135° and 90°
clockwize alternately, The circle
also moves siepwise and rotates
90° anticlockwise alternataly.

16. {3) In each subacquent figure the
main design rotates through 80°
tiockowise and the attached small-
er deslgns move in antlelockwibe
direction.

7. (4] This problem iy baged on the

" rule (1) = {4} and (2} = {5).

6

AL

18 {2) I

1. (1)

2. 111 [T

23. {2) From first Ngure to second fg
urethe second and thethird de
syms become the fimt and the
second designs respectively and
the first design becomes the third
design. The fourth design 15 -
placed with a new dealgn. From
second Agure to third figure the
firat design becomes the fourth
deslgn and other designs maove
towarde left in that drder. These
two steps are conttnued in the
subsequent figures, If we inter-
change the Problem Figure (2|
with [4¥the sequence becomrs
correct,

28. (4) In egch subsequent figure &l
the deslgns move one step (n an-
ticlpckwise directlon. If we inter

! change Prohlem Figure (3) with
15} the squence becomes correct.

M2 4x3-4a8
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X
28. (2) Suppose the ractions are B
)
and = reapectively.
X u_ﬂ
57 35
= Tx+By=il |
y,x 4
and. 5+ %35
= Ty+5x=43 i)
48x + 35 = 287

and, 25x + 36y = 215

- - -

= x =72
x =3
and y=4
. 3 4
- Required fractions are B and 7

27. 14) Obviously the required num-
bers are 12, 34 and 36.

28. (2) Relative apeed of trains
= 55 + 80
= 135 miles per hour
Time Laken to cover 68 km

2 60 min
" 195, * ) minutes

80
= — minuts

7
780
TDM-TT—.-E.- minute

7

. The distance.betwegii the two
trains 2 minutés before collisior;
= 65 - 60.5 = 4.5 miley

29. (3) Suppose the number Is x.

X .
;-G =00

" xuﬂﬁxg‘sﬁ
2

30. {2} Supposé Lhw two numbers are
x and ) respectively.

e x
ke At o

o |

T 4
o i::-l. . i-— .
‘a * [} y &-2-3

31. (4} Suppose the SP of one dozen
of mango Is Re. |

~ 5P of 39 dozen of mangoes
= Rs, 30

and 8P of 13 dozen of mangoes
-R!. la]]rﬂ-l

. CP of 39 dozen of mangoes
=39~ 13 = Rs. 26

13
~ Profit % = Exlm = 508

3. (3) Place values of diglts in the
number 0.078543

7 .8 5 4
100" 1000" 10000 100000
3
1000000

- 1Gxl6x12x12
.19 16x12

=16 x 12 = 192

and

1
84.(1)08x0.8+08x i
= 0.64 + 0,10 = 0.74

TMOu2xbxT
20 xIRE5xT
A HCF =5%7 =135

(32
”!{mlmpf‘.lsllﬁ '4.-()

. . LCM of 3.9and 27 27
= LCM CFof8 9and40 = B
™ i
A 6= g=32
i2=22%3 15=3x5
1B=2x32
LCMof 8, 9, 12, 15 and 18
‘w29 % 3% x 5= 360
* Required number
=960 x 2 x 5 = 3600
99. (2) Suppose the number is x
© Apcording to question

|m _
-i-ﬁofxﬂm =X

lx 2x
= 120-.:—'5' #lﬂﬂ-?

120 5 ~300

= xi=

40, (2} 100 x 40 + 100 (40 - 35)
=100 x x
1f these work is completed (n x
days.

=+ 4000 + 500 = 100x
Lox=45
~ Il more men had not béen
employed then the work had been
completed after 5 .days,

41. (J) Suppose Ra. xwas lent at §2%

(4000- x)x10x3( xx12x 4
100 T

= 5350 - 4000

= 120000 - 30x + 36w

= 1350 x 100

= Y3500

== /G 15000

424 x4t -(0? =72
X+ 4m

2
]

xim

|

= Bx+ 16="T72

72-16
8

= 7 metres

». Areaof fleld = (71 =49 aq m
43. (3} - x+y+20=48

A

R =

B ; C

= x+y=28 ..l
= y=28-x
and.r’+y2fliﬂlﬂ
= x* + (28 - % = (202
= 12 + 784 - B56x + 22 = 400
= 2x - 56x+ 384 =0
= 2 -28x+ 192 =0
= [x- 16) (x-12}=0
. x=l180r.12
and y =12 or 16
44.(4) - m'=25= (52 =25
LomeSand ne2
sonM=25=32

o il

36
48. (2) m = 0.0036

48. (1) 0.006 » 0.0000
= 0.0000054
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T
-
47.[2}5-1‘[1*"135}

10 Y
= 10,000 |1+-—
[ 100
u 1 on
10 10 10
= Rs. 13,310
48. (1) Suppose the CP of article is
Rs. x.
According to question
X = 1600 = 2000 - x
= 2x = 3600

= 10,000 x

= Rs. 1800

XK=

2

625720
13

BO. (3) Speed of boat upstream

48, 4) P = = 40440

40
- T = 10 k.mph

Speed of boat downstream
40 .
= ‘Etakmﬂ'l
. Speed of boat in still water
10+8
= .2 -ka,p-h
81. (3) Internet . 82. (2) Modem
53. (4) Centripetal Force
B4. (1) ARPJ Abdul Kalam
B8. (3) Solar cell
56. (4) All of the above
B7. {3) Barack Obama
88. (2) Jeevan Bodh
88. (1) Bina Nivesh 2005
80. {(4) Jawahar Lal Nehru
81. (3) Saviti @2, (1) Vallabhi
63. (4] Magnetic Ink-Character Rec-

ognition
64. (3] 6 months
88, (1) Klass Shwah
68. (1) PN Bhagwati.
87. [4) VV Girl
88, (2) Corporation tax
88. (3) Roger Federer
T70. (2) Montreal Protocol
71. (1) Pooja Chopra

T2. (1) Blue light

73. (2) Purush

74. (1) Ahmadnagar
78. (2) James Princep
76. (2) in bad mood

. T7.(2) has had the tremendous ef

fect
78. (2) with In hundred yards
79. (2) and army men
B0, (2] i1s only deniist
81. (4) Frightful
82. (3) Safe’
B4. (2} Required
88. (2) Interpreter
84, (4) Finish 87. [2) Regional
89, (2) Dead
889, (4) Descendants
0. (1) Costnrtic
1. [2) cominunicate
B, [3) depressed
5. |2} comfortable

B4, [4) Cruelly

M. (4} overshadows

98, (3)dazzle 98, (3) Deploy
&7, (3) Hijacker 98, (2) Uxoricide
99, (1) Serenade -

100. (4] Aristocracy
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